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1         2 = 3 

 

 

 

Colour code:   Grey = 11      Light Green = 16       Dark Green = 7        Brown = 25      

             Blue = 15       Yellow = 3        Orange = 72          Black = 36         Red = 40       

 

 

 

Solve the equations. Use the code to colour the picture.  

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1         2 = 3 

x  

 

 

² 

 

-  

÷  
² 

 

÷  

 

÷  

 

 
 

÷  

÷  

 

x  

 

÷  

² 

   

 

%  

% 

 

÷  


